¢ % > L1 21 s Ll P T
PR B 1105 110 P38 4 % KoK T RaR2 & (& P840 S k3280 8k sk 14/
. Ad 3 . o b2l I R £ - AR . . . * B ENG]
i3 H ¢ e ) - ; i ) 4 A A s
PR P p e § B\ mpR | &9 Y A4 E R @i % & i AR b |
NI
‘ 6.0~8.5 | 0.2~1.0 5 250 250 10.0 500 2 0.1 0.1 0.01 0.2 300 6 100
KR
FRELE
- 0.018 <3 2.26 044 | 0.023 10.0 0.09 | 0.0010 | 0.0098 | 0.0023 | 0.020 | 0.36 <1 <1
(MDL)
1 B 7.6 0.62 <3 16.5 17.9 2.59 128 0.15 ND <0.02 ND 0.151 50.7 <1 <1
it £ R)
2 (1 450) 7.6 0.38 <3 16.5 19.1 2.54 128 0.10 ND ND ND 0.109 | 47.8 <1 <1
2 Heg
3 EAPUNY 7.7 0.60 <3 17.0 19.8 2.61 130 0.10 ND <0.02 ND 0.133 | 4838 <1 <1
4 <8 7.8 0.59 <3 3.6 108 2.02 240 ND ND ND ND 0.145 | 418 <1 <1
%
5 8.0 0.57 <3 3.1 119 1.70 258 0.15 ND <0.02 ND 0.107 | 40.8 <1 <1
4o JBR b
6 ek 6.4 0.34 <3 12.5 35.5 4.99 158 0.15 ND <0.02 | <0.005 | 0.112 | 433 <1 <1
7 i 6.5 0.46 <3 122 35.9 5.10 159 0.10 ND <0.02 ND 0.115 | 4438 <1 <1
8 £ 6.5 0.53 <3 124 224 3.73 148 0.15 ND <0.02 | <0.005 | 0.118 | 428 <1 <1
9 & if 6.7 0.41 <3 11.6 234 3.68 136 0.15 ND <0.02 ND | <0.050 | 48.8 <1 <1
10 | &= -kgg| 74 0.63 <3 16.0 19.8 2.09 133 0.15 ND 0.02 | <0.005 | 0.105 | 4838 <1 <1
1] &% 7.7 0.76 <3 16.0 17.9 2.68 140 0.15 ND <0.02 ND 0.059 50.7 <1 <1
12 Gl 72 0.50 <3 17.7 18.8 2.62 137 0.20 ND ND ND 0.086 | 48.8 <1 <1
13 | #eg 7.4 0.61 <3 17.4 18.0 2.65 126 0.10 ND <0.02 ND 0.138 | 49.8 <1 <1
14 ZEf 6.4 <3 ND 2.0 0.13 ND ND ND <0.02 ND 0.059 0.4 <1 <1
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i S 6.0~8.5 [ 0.2~1.0 5 250 250 10.0 500 2 0.1 0.1 0.01 0.2 300 6 100
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- 0.018 <3 226 0.44 0.023 10.0 0.09 | 0.0010 | 0.0098 | 0.0023 [ 0.020 0.36 <1 <1
(MDL)
@ [F
1 7.4 0.39 <3 15.7 18.8 2.58 125 0.10 ND ND ND 0.092 48.3 <1 <1
1-85%
2 F® 73 0.31 <3 16.2 19.1 2.62 128 0.10 ND ND ND 0.132 51.7 <1 <1
43-1%%
S &
3 7.7 0.53 <3 16.1 20.4 2.60 131 0.15 ND <0.02 ND 0.084 50.7 <1 <1
44 %
T i
4 L 7.9 0.74 <3 3.2 119 1.78 262 ND <0.01 | <0.02 ND <0.050 | 40.8 <1 <1
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5 7.7 0.61 <3 32 121 1.42 252 ND ND ND ND <0.050 40.8 <1 <1
1-12%%
FTER
6 8.0 0.65 <3 2.8 125 1.59 260 ND ND ND ND 0.087 4238 <1 <1
922 1%,
= 74
7 8.0 0.69 <3 32 116 1.83 263 ND <0.01 ND ND 0.113 41.3 <1 <1
16155
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8 6.5 0.48 <3 11.7 353 523 156 0.10 ND ND | <0.005 | 0.193 43.8 <1 <1
16255
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9 1221 6.5 0.24 <3 10.4 234 4.25 138 0.15 ND ND ND 0.072 41.8 <1 <1
%%
10 " 6.7 0.38 <3 10.9 233 3.90 140 0.10 ND ND ND 0.060 42.8 <1 <1
@ i 10150
11 &k 3-58F 6.6 0.31 <3 11.7 242 3.65 140 0.15 ND <0.02 ND 0.067 37.8 <1 <1
ks
12 7.4 0.42 <3 16.0 18.8 2.65 135 0.10 ND <0.02 ND 0.116 51.7 <1 <1
1002255
13 ¢ F48%L 7.4 0.42 <3 16.9 20.4 2.61 143 0.10 ND <0.02 ND 0.093 48.3 <1 <1
P,
14 *if ‘Z £:.30 6.5 0.43 <3 12.0 222 3.62 143 0.15 ND ND ND 0.121 438 <1 <1
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15 g ' 8555, 7.5 0.38 <3 16.1 18.8 2.80 140 0.15 ND ND ND 0.075 49.8 <1 <1
16 B E6Y 73 0.58 <3 16.6 17.2 2.66 126 0.20 ND ND ND 0.120 50.7 <1 <1
17 | # T 5-2%5 7.2 0.54 3 17.6 17.8 2.64 123 1.0 ND <0.02 ND <0.050 49.8 <1 <1
18 2 EE58%5L 7.1 0.35 <3 17.0 18.0 2.73 124 0.10 ND <0.02 ND 0.067 52.7 <1 <1
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